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F. Y. B. Com. Examination - 2009

COMPUTER CONCEPTS AND PROGRAMMING

(Old 2004 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Both the sections should be written in the same answer-book.

SECTION - I

Q.1) Attempt any four of the following : [2x4=08]

(a) Write any four Internal DOS Commands.

(b) What is Warm Booting Process ?

(c) Write any two characteristics of Computer.

(d) What is E-mail ?

(e) Explain the following terms :

(i) PROM

(ii) EPROM

(f) What is Spreadsheet ?

Q.2) Attempt any three of the following : [3x4=12]

(a) Discuss Scope of Computer in Business.

(b) List input devices used in Computer and explain any one briefly.

(c) What is Internet ? Explain it in brief.
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(d) Write a note on DTP.

(e) Distinguish between High Level and Low Level Language used
in Computer.

Q.3) Write short notes : (Any Three) [3x4=12]

(a) Laser Printer

(b) System Software

(c) Web Camera

(d) Bus Network Topology

(e) Joystick

SECTION - II
Q.4) Attempt any four of the following : [4x2=08]

(a) State whether the following statements are true or false :

(i) ++ (Increment) operator is not an unary operator.

(ii) When initialy condition is false, the statement in do-while
loop is executed at least once.

(b) Point out errors, if any, in the following C statements :

(i) k = a * b + (c (2.5 a + b)) ;

(ii) area = 3.14 * r ** 2;

(c) What is the use of Logical And (&&) Operator ?

(d) Pick odd one out :

(i) a = a + 1;

(ii) a + = 1;

(iii) a ++;

(iv) a = + 1.

(e) Write a Syntax of For Loop.

(f) What is the purpose of <stdio.h> library file ?
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Q.5) Attempt any three of the following : [3x5=15]

(a) Write a program for sorting integer elements array in acending
order.

(b) Write a program to find the area of circle. (Using formula
a =  r2)

(c) Explain Logical Operator with suitable example.

(d) What is Constant ? What are different types of Constants ?

(e) What will be the output of the following statements ?

int a = 3, b = 16, y;

float p = 74.56 ; q = 34.509 ;

(i) if (a < b) || (b > 0)

(ii) printf(“%f \t % d \t %d \n”, p, b, a);

(iii) y = (a > b) ? a : b;

(iv) if (b > = 7) printf(“%d”, ++b);

            else printf(“%d”, ++a);

(v) a * = 5;

Q.6) Write short notes : (Any Three) [3x5=15]

(a) Decision Table

(b) Relational Operators

(c) Compiler

(d) Putchar( ); Puts( )

(e) Conversion characters used in printf( ) statement
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Q.7) Attempt any one of the following : [1x10=10]
(a) Write an algorithm and draw flowchart to find compound

interest.
(b) Give output of following ‘C’ programs :

(i) main( )
{

int abc = 3, i = 0;
switch (abc)
{
case 1 :

printf(“\n Pune”); break;
case 2 :

printf(“\n Speed”); break;
case 3 : i = i + 2;

printf(“%d \n FYBCom”, i); break;
default : printf(“\n Heart”);
}
printf(“\n No more chance”);

return;
}

(ii) main( )
{

int i, j, n = 4;
for(i = 1 ; i < = n ; i++)
  {

for (j = 1, j < = i ; j++)
printf(“%d”, j);
printf(“\n”);

  }
return;
}
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[3569]-5
}æÚæÆè MÐæ¢„Ú

±ïf : 3 „æ¨] [»ÜêU‡æ xæé‡æ : 80

¨ê™Ýæ :

(1) ¨±ü ÐíàÝ ¥æ±à²ÜU ¥æãï„.

(2) ©…±èÜUÇèH ¥æÜUÇï Ðê‡æü xæé‡æ Îàæüç±„æ„.

(3) Îæï‹ãè ç±|ææxæ »ÜUæ™ ©œæÚÐç~æÜUï„ ¨æïÇ±æ±ï„.

ç±|ææxæ - 1

Ðí.1) ÐéÉèHÐñÜUè ÜUæï‡æ„ïãè ™æÚ ÐíàÝ ¨æïÇ±æ : [2x4=08]

(¥) ÜUæï‡æy²æãè ™æÚ Internal DOS Commands çHãæ.

(Ïæ) ¨¢xæ‡æÜUæ™ï Warm Booting }ã‡æ…ï ÜUæ² ?

(ÜU) ¨¢xæ‡æÜUæ™ï ÜUæï‡æ„ïãè ÎæïÝ xæé‡æ{}æü çHãæ.

(Ç) §ü-}æïH }ã‡æ…ï ÜUæ² ?

(§) ¶æHèH ¨¢¿ææ SÐC ÜUÚæ :

(i) PROM

(ii) EPROM

(ÈU) SÐíïÇàæèÅ }ã‡æ…ï ÜUæ² ?

Ðí.2) ÐéÉèHÐñÜUè ÜUæï‡æ„ïãè „èÝ ÐíàÝ ¨æïÇ±æ : [3x4=12]

(¥) ¨¢xæ‡æÜUæ™æ Ã²æÐæÚæ„èH ±æ± ²æ ç±¯²è ™™æü ÜUÚæ.

(Ïæ) Input Devices Ó²æ ç±ç±{ ÐíÜUæÚæ¢™è Ýæ¢±ï ¨æ¢xææ ± y²æ ÐñÜUè »ÜU ƒæïÇv²æ„

SÐC ÜUÚæ.

(ÜU) Internet }ã‡æ…ï ÜUæ² ? y²æ™ï ¨¢çÿæŒ„ ±‡æüÝ ÜUÚæ.

(Ç) DTP ±Ú ÅèÐ çHãæ.

(§) ¨¢xæ‡æÜUæÓ²æ ±æÐÚæ„èH ©Ó™ Î…æü™è |ææ¯æ ± ÜUçÝD Î…æü™è |ææ¯æ ²æ„èH

ÈUÚÜU SÐC ÜUÚæ.
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Ðí.3) ƒæïÇv²æ„ çÅÐæ çHãæ : (ÜUæï‡æy²æãè „èÝ) [3x4=12]

(¥) HïÛæÚ ôÐíÅÚ

(Ïæ) ç¨çSÅ}æ ¨æïzÅ±ï¥Ú

(ÜU) ±ïÏæ ÜUò}æïÚæ

(Ç) Ïæ¨ ÝïÅ±ÜUü ÅæïÐæïHæò…è

(§) …æò²çSÅÜU

ç±|ææxæ - 2

Ðí.4) ÐéÉèHÐñÜUè ÜUæï‡æ„ïãè ™æÚ ÐíàÝ ¨æïÇ±æ : [4x2=08]

(¥) ¶æHèH ±æv²ï ™êÜU ÜUè ÏæÚæïÏæÚ „ï çHãæ :

(i) ++ (Increment) Operator ²éÝÚè (Unary) Operator Ýæãè„.

(ii) …ï¢Ããæ ±æv²æ„èH Ðíæƒç}æÜU ¥Å (initialy condition) ™éÜUè™è ¥¨„ï

„Úèãè do-while loop »ÜUÎæ „Úè ÍæÅè„ (Executed) ãæï„ï.

(Ïæ) ¶æHèH ‘C’ |ææ¯ï„èH ±æv²æ„èH ™êÜU àææï{æ :

(i) k = a * b + (c (2.5 a + b));

(ii) area = 3.14 * r ** 2 ;

(ÜU) Logical And (&&) Operator™æ ©Ð²æïxæ ¨æ¢xææ.

(Ç) ¶æHèH ±æv²æ„èH ç±¯}æ Ð²æü² àææï{æ :

(i) a = a + 1;

(ii) a + = 1;

(iii) a++ ;

(iv) a = + 1.

(§) ÈUæòÚ HéÐ (For Loop)™æ Syntax çHãæ.

(ÈU) Hæ²ÏæíÚè ÈUæ§H (Library File) }æ{èH <stdio.h> ™æ ©gïàæ ÜUæ² ¥æãï ?
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Ðí.5) ÐéÉèHÐñÜUè ÜUæï‡æ„ïãè „èÝ ÐíàÝ ¨æïÇ±æ : [3x5=15]

(¥) Array (¥òÚï) }æ{èH Integer Element (Ðê‡ææZÜU ÍæÅÜU) ±MÝ ¶æHè

(Ascending Order) ¥à²æ RU}æ±æÚè„ Hæ±‡²æ¨æÆè RU}æ±æÚè™æ ‘C’ }æ{èH

Ðíæïxæíæ}æ çHãæ.

(Ïæ) ±„éüfæ™æ ¥æÜUæÚè„ |æé|ææxæ (Area) àææï{‡²æ¨æÆè ¶æHèH ¨}æèÜUÚ‡æ ±æÐMÝ

‘C’ }æ{èH Ðíæïxæíæ}æ çHãæ. (¨}æèÜUÚ‡æ a = 

 

r2)

(ÜU) Hæòç…ÜUH ¥æòÐÚïÅÚ (Logical Operator)™ï ©ÎæãÚ‡ææ¨ã SÐCèÜUÚ‡æ çHãæ.

(Ç) ÜUæòSÅ¢Å }ã‡æ…ï ÜUæ² ? ±ïxæ±ïxæû²æ ÐíÜUæÚæ™è ÜUæòSÅ¢Å ÜUæï‡æ„è „ï çHãæ.

(§) ¶æHèH C Úæàæè™ï Output çHãæ :

int a = 3, b = 16, y;

float p = 74.56; q = 34.509;

(i) if (a < b) || (b > 0)

(ii) printf(“%f \t %d \t %d \n”, p, b, a);

(iii) y = (a > b) ? a : b;

(iv) if (b > = 7) printf(“%d”, ++b);

           else printf(“%d”, ++a);

(v) a * = 5;

Ðí.6) ƒæïÇv²æ„ çÅÐæ çHãæ : (ÜUæï‡æy²æãè „èÝ) [3x5=15]

(¥) çÇç¨ÛæÝ ÅïÏæH

(Ïæ) çÚHïàæÝH ¥æòÐÚïÅÚ

(ÜU) ÜU}ÐæHÚ

(Ç) ÐéÅÜUæòÚ( ); ÐéÅ¨ì( )

(§) ÜU‹ÃãÚÛæÝ ÜUòÚòvÅÚ ²éÛæÇì §Ý ôÐíÅ»ÈU( ) SÅïÅ}æï¢Å
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Ðí.7) ¶æHèHÐñÜUè ÜUæï‡æ„æãè »ÜU ÐíàÝ ¨æïÇ±æ : [1x10=10]

(¥) ™RU±æÉ Ã²æ… ÜUæÉ‡²æ¨æÆè™æ flowchart „¨ï™ y²æ™ï Algorithm çHãæ.

(Ïæ) ¶æHèH ‘C’ Program™ï Output çHãæ :

(i) main( )

{
int abc = 3, i = 0 ;
switch (abc)

  {
case 1 :

printf(“\n Pune”); break;
case 2 :

printf(“\n Speed”); break;
case 3 : i = i + 2;

printf(“%d \n FYBCom”, i); break;
default : printf(“\n Heart”);

  }
printf(“\n No more chance”);

return;
}

(ii) main( )
{

int i, j, n = 4;
for(i = 1 ; i < = n ; i++)
  {

for (j = 1, j < = i ; j++)
printf(“%d”, j);
printf(“\n”);

  }
return;
}
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